Exam III; F4360; Fall, 2000




Name ______________________________

Short answer questions/problems

1.  Assume you have decided to estimate the beta of a project by calculating the average beta of the securities that have been issued by the firm.  What advantage does this approach offer compared to attempting to estimate the beta of the project by using historical returns on similar assets?

2.  One way to estimate the risk of a project being considered is to use the average asset beta for firms in the same industry as the project. What are two advantages of this approach?

3.  What are the potential problems associated with using the average asset beta for firms in the same industry as the project as an estimate of the risk of the project?

4.  What are the two factors that we discussed in class which will cause an asset’s beta to be higher?

5.  What kinds of capital budgeting decisions do decision trees allow us to address?

6.  Landslide Squeaker Inc. is attempting to determine how many ballot boxes it must sell in order to earn a zero net present value.  Given the information below, what would you enter for EAC in the breakeven equation (use a “+” to indicate an increase in cash flow and a “-“ to indicate a decrease in cash flow):

Cost of new factory:  $850,000
Life of factory:  20 years
Expected annual sales:  $100,000

Price per unit:  $1.50
Required return on factory:  8.7%
Tax rate:  35% 

7.  Clinton Forever Inc. is considering expanding production at its factory in New York.  Clinton currently leases the factory for $150,000 per year and leases manufacturing machinery for $100,000 per year.  Clinton would be able to lease additional machinery for $50,000 per year.  The factory that Clinton already leases is large enough to hold the new machinery if it is leased.  Clinton’s marginal tax rate is 35%.  How would this information affect the cash flows that occur 2 years from today as used to determine the expansion’s NPV?

8.  Assuming a firm has no debt, under what conditions should a firm accept a project based on its net present value (be sure to consider independent and mutually exclusive projects)?

9.  Under what conditions might stockholders prefer that a positive NPV project be rejected?

10.  What can bondholders do to prevent stockholders from making decision that benefit the stockholders at the expense of bondholders?

Problems/Essays

1.  Surplus Spent Before Elections Inc. is considering implementing an EVA bonus plan for its executives.  The CEO of Surplus has an annual salary of $1,800,000 per year.  The firm is planning to set the target bonus of the CEO at 150% the CEO’s base salary.  Surplus has decided to implement an EVA bonus system because Surplus’ EVAs have been negative for the past few years.  As a result, Surplus will set its initial target EVA equals to -$120 million.  Subsequent target EVAs will be set using the Harnischfeger self-adjusting technique.  In determining bonuses, the leverage factor will be set equal to 100 million.  Since Surplus will be using a bonus bank system, the CEO will start with a bank balance of $2,000,000.  What will the CEO’s EVA bonus payments equal in 2001 and 2002 if Surplus’ EVA equals -$140 million in 2001 and +$5 million in 2002?

2.  Congressional Stalemate Inc. is considering undertaking a project which would involve an initial investment of $100,000.  The project is expected to generate net cash flows of $15,000 per year for 10 years.  The beta of the project is estimated to be 1.2 and the standard deviation of returns on the project is expected to be 39%.  The APRs (with continuous compounding) on Treasury strips are as follows:  1 month = 6.3%; 4-years = 5.94%; 10-years = 5.96%; and 30-years = 5.5%.  If the project does not live up to expectations, it can be sold during the next 4 years for $76,000.  Should the project be undertaken if the market risk premium is 8.2%?

